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QID:1-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

eafafa oy # for ow fredl & @ uy g
(?) & T W A ael FA B gRAT

3|56 | 2|32
6 | 2|3 |38
4. |3 [ & | 2

Options:

1) 36

2) 62

3) 80

4) 84

Correct Answer: 62

QID:2-

How many triangles are there in the given figure?

& 8 e 3 Ree Paager ¥

Options:

1)5

2)6

3)7

4)8

Correct Answer: 7

QID:3-

lhe alternatlves The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘2’ can
be represented by 20, 97, etc., and ‘Y’ can be represented by 42, 79, etc.
Similarly, you have to identify the set for the word “FRONT”.

T QG Had Uh GEAT-UHE N1 GRIFT /T &, oitr 6 faweur o @
et wen F Rar amar {1 Reeut & Br 9w dar-gag 3Rt & o aof
gRT guiT 71w &, Sk 5 Bu aw o ameyst & R Iegpl b T 3R
ufth Y dEar 0 @ 4 ¢ 3R IGgEI A 5 F 91 3 IGH F T W
H Ugdl zH Ufh AR ag F ToEH W gRn g a1 WA R
3GTRROT & fAT 22 20, 97, 3N GRT GATAT ST FhaT & AU Y P42,
79, 3E ERT AT S Wehal ¥l M e @ UM UA H U g
“FRONT” & folT Tofp & Ugamaen &l

Matrix-1 Matrix-ll
- gl
o[1[2]3[4 5[6[7[8]9
O[F[H[J[LIN S[N[P[1[K[B
1[P|R|T|V][X 6|L[E|[R[M[A
2[Z|[B[D|[G[E 7|J[T[D[O[Y
3[K[M[o[als g[H[V[B[Q|W
a|[U[wW[Y[AlC NEEIFASIY
Options:

1) 00, 11, 32, 04, 12
2) 95, 67, 32, 55, 75
3) 00, 31, 85,03, 76
4) 95, 11, 79, 55, 23
Correct Answer: 00, 11, 32, 04, 12

QID: 4-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 3R Pl F ¥ 3@ I IET A gAT
S & oy apfa @Ak B

q

Options:

hd
1)

X
2)

X
3)

e
4)

Correct Answer:

\
\
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QID:5-
Which answer figure will complete the pattern in the
question figure?

FiF @ 3R HFHA T Fpla & ulawT F @
HLefr?

-~

Options:

3
L
/

2)

3)

4)

Correct Answer:

/

QID:6 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?
IfE wh ST @ AB X@N W @M AW, ar & 7S
ISR AFaAl F T Fa @ IplY wy 3ea H
& ufafesa aef?

AR B

Options:

1)

2)

3)

L

Correct Answer:

QID: 7 -
A piece of paper is folded and punched as shown
below in the question figures. From the given

answer figures, indicate how it will appear when
opened?

@ F oy gpfaal # REmw dgER e @
AR S AT Weld & a1 I¢ FT 3| ey
shar s game

| n]=

Options:

1)

2)1_r

3)

4)

Correct Answer:

QID : 8 - If X' means '+', '+' means X', '-' means '+'
and '+' means ', then which of the following equation is
correct?

afe 'x @ 3+, A X, A e
F1 37T ' @, O Feafaf@a 7 ia ar g @
&7

Options:
1)12-3x4=12
2)5+2-4=13/2
3)49x7—14 = 98/2
4)44+4-2=188



Correct Answer: 44 + 4 -2 = 88

QID:9-If3#9@4=3and4#4@4=2,then6
#4@5=7?

I3 #9@4=3TUM4#4@4=28,N6#4@
5=?

Options:

1)3

2)2

3)4

4)1

Correct Answer: 2

QID : 10 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Viper

2. Vapour

3. Victory

4. Vacuum

5. Visit

TAe=ATATEd ereal I Aeeenler H 37 dTel el & AR
forg|

1. Viper

2. Vapour

3. Victory

4. Vacuum

5. Visit

Options:

1) 42135

2) 42315

3) 24315

4) 24135

Correct Answer: 42315

QID : 11 - In the following question,select the missing
number from the given alternatives. T

?, 28, 65, 126, 217, 344

fArafaf@d gea & QU v fAevedt & & ocd 3 A
EAIEIY

?, 28, 65, 126, 217, 344
Options:

1)7

2)4

3)9

4)5

Correct Answer: 9

QID : 12 - A series is given with one term missing.
Select the correct alternative from the given ones that
will complete the series.

J,O,TY,D,?

T 3feTsha fear I g, fored & U ug ofed 81 e
T famedt # F g8 T Ahed AT, ST IThA Y
Qq A

J,O,TY,D,?

Options:

1)I

2)]

3)H

4)K

Correct Answer: I

QID : 13 - In the following question, select the odd
word from the given alternatives.

rAfaf@d g2t & U v Ahedl & & fAwe =g ar
gfav|

Options:

1) Metre

Hiex

2) Kilometre

el

3) Centimetre
HEHRT

4) Litre

wrex

Correct Answer: Litre

e
SIS

QID : 14 - In the following question, select the odd
number pair from the given alternatives.

Arafaf@a g & U av Aseul & & (Awew g&ar
g7A Fr aﬁltrl

Options:

1)24:47

2) 16 : 31

3)28:55

4)32:65

Correct Answer: 32 : 65

QID : 15 - In the following question, select the odd
letters from the given alternatives.

eAfaf@d ueT & feu a7v RAkvedl & & fawer 318wy
I giAw|

Options:

1) ACEG

2) MOQS

3) FHIK

4) PRTV

Correct Answer: FHIK

QID : 16 - Identify the diagram that best represents the
relationship among the given classes.

Cricketer, Male, Actor

9€ I IET S A R aw it & & FEw w

TEr fAFIOT I B
e, gou, arfaar
Options:

S
&

2)




Q8O

,©

Correct Answer:

&

QID : 17 - In the following question, select the related
word from the given alternatives.

Love : Hate : : Deep : ?

farafaf@d gea 7 U v fawedt & @ Gafta ersg
& gAT|

GH : gO e ?

Options:

1) Long

ofFdT

2) Bright

TP

3) Shallow

oar

4) High

Far

Correct Answer: Shallow

IBEXI

3T

3)

QID : 18 - In the following question, select the related
number from the given alternatives.

18636 : 3106 :: 2508: ?

fArAfaf@a wea & U 71w fYwedt & @ Tefta dwar
@ giaw|

18636 : 3106 :: 2508 : ?

Options:

1) 418

2) 406

3) 394

4) 430

Correct Answer: 418

QID : 19 - In the following question, select the related
letters from the given alternatives.

LP:QU::VX:?

frafaf@a ued & feu v fawedt & & Tafda 3wy
& gAT|

LP:QU::VX:?

Options:

1) BD

2) AD

3)ZB

4) AC
Correct Answer: AC

QID : 20 - In the following question, select the word
which cannot be formed using the letters of the given
word.

OPTICIAN

fAefaf@d fasedl & @ g Usq AT S fqw v
ersG & 3T&RT FT TART dh Aal SeIrAT ST HehdT|

OPTICIAN

Options:

1) PAINT

2) PAIN

3) COIN

4) TAIL

Correct Answer: TAIL

QID : 21 - P is father of Q, but Q is not his son. S is wife
of P. Ris son of S. How is Q related to S?

P, Q& R4 § TR Q38 I 7T &1 S, P& Teaht &
R, S& 9 &1 Q, S ¥ Tohe YR HETET &2

Options:

1) Brother

I

2) Daughter
CEll

3) Father
oar

4) Cannot be determined
AT TET foRar ST aehar
Correct Answer: Daughter

SEILl

]

I

QID : 22 - Megha walks 10 km towards North. She turns
right and walks 15 km. She turns right and walks 20 km.
She turns right and walks 15 km. How far (in km) is she
from her starting point?

AET 3eal T 3R 10 fr.AY. Torch &1 T8 ST 3R A3
g dur 15 A g &1 98 it 3R A3l & dur 20
ool Ty 81 9 grit 3R Fsch § dur 15 .
Tl &1 T6 I RS Soq @ foheeh g (fom.ah.
#H) W g

Options:

1) 15

2)5

3)10

4) 20

Correct Answer: 10

QID : 23 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be
at variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.
Statements:



I. All pens are cups.

I1. All cups are chairs.
Conclusions:

I. All pens are chairs.
I1. Some cups are pens.

A U aw weed & Fo wUA IR 3T% a1 37 FHYUA
W IR F& sy U 1w §, i 398 ey
AT aLT & FReetdr g Fehct g1 Tl sy 9 3k
it feiRa &t s fov v &la @ oy, R arw
FYAN F HUR W GFFAITT 8

hYol:

I. @ Tt FT gl

IL 5ol &9 HEAT §

s

I @3t Fore AT &

II. $& & Held

Options:

1) Only conclusion (I) follows.

ool fashy (1) @Er B

2) Only conclusion (II) follows.

Fad fasewy (1) T8 &

3) Both conclusion follow.

alt & forsny @ g

4) Neither conclusion (I) nor conclusion (II) follows.

o o TSRy (1) 7 & shy (1) F&r B

Correct Answer: Both conclusion follow.

el & fashy @y &

QID : 24 - In a certain code language, "BOOK" is
written as "CQRO". How is "ROAD" written in that code
language?

T Tafdse g 9T &, "BOOK" &I "CQRO" for@r
JTAT & | 39 HI3 AT F "ROAD" &I fFa war forar
SITUam?

Options:

1) SQDH

2) SQCH

3) SRDH

4) SREH
Correct Answer: SQDH

QID : 25 - In a certain code language, "HELLO" is
written as "97151620" and "WORLD" is written

as "241721169". How is "FRUIT" written in that code
language?

T fafdse &g s

#, "HELLO" &I "97151620" 4T "WORLD" &I "2417
21169" fo@T STar &1 39 &5 HIST 3 "FRUIT" &Y

e g for@r smeem?
Options:

1) 720241325

2) 720231325

3) 720241324

4) 719231325

Correct Answer: 720241325

QID : 26 - Which of the following is true?
Trfafea & & i a1 @ &2

Options:

v
W
Blw

=
A

WV

N pw YN o

W

N
—~

WV

W
A
No o Pl o~

W

W
W

4)
Correct Answer:
r.686.3
8 7 4
QID: 27 -
BT,

Whatis the simplified value of 7
4 B -7

ﬁiﬁmmﬁmmé‘?

Options:

1) 8 + 3V7

2)8-3V7

3) 16 + 3V7

4) 16 - 3V7

Correct Answer: 8 + 3V/7

QID: 28 - If A = 23 x 3* and B = 2° x 32, then what is
the value of A x B?

e A=23x3*qarB = 2°x 328, YA X B F A
FT 82

Options:

1) 28 x 3¢

2) 2Bx 38

3) 28x 38

4) 215 x 3°

Correct Answer: 2% x 3°

QID: 29 -
Which of the following relation(s)is/are true?
L. 2>33
I ¥3>2
. 2=33

T 7 ¥ g wa gey T ¥
. J2>33

I 33>42

. ~2=33

Options:

1) Only I

a1

2) Only II

dhaol 11

3) Neither I nor II



AaAITEII
4) Either I or II
I 312t 11

Correct Answer: Only II

Fae 11
FAIad I

QID: 30 -
3 3
Whatis the simplified value of {277+ (15) ?

TP -2 AB=(13F

2.7 +(1.3)°
(272 -2.7x1.3+(1.3)°

T TP AT FT 82

Options:

1)4

2)1.4

3)1.3

4)2.7

Correct Answer: 4

QID : 31 - How many two digit numbers are divisible by
9?

ar 37 fT fFaer TEaw 9 ¥ [{anfaa adr 872
Options:

1)9

2)8

3)10

4)1

Correct Answer: 10

QID : 32 - P alone can complete a work in 10 days and
Q alone can complete the same work in 20 days. If P and
Q work together, then in how many days the same work
will be completed?

P 3/her fREY T @1 10 AT  qU & @ehaT § aum
Q 3rhel 38 & & 20 &t F @ & whar g1 IR P
dur Q AT & &Y, df 981 &1 fovaat el 7 qu
g SITeT?

Options:

2

5%
1) 3

7
4)
Correct Answer:
2

3
6

Wi

QID : 33 - A and B together can complete a work in 8
days. B alone can complete the work in 24 days. In how
many days A alone can complete the same work?

A Tar B fAeet fret & @l 8 fealt 7 qU &Y Hehd
g1 B 3rholr 24 f&all 7 1T QU T HeveTl &1 A el
39 F @ fhdel el # Q@ # Fehell 872
Options:

1) 16

2) 14

3)12

4) 13

Correct Answer: 12

QID : 34 - What is the area (in cm?) of a square having
perimeter 84 cm?

84 A.7). gRFATT arer v T & Ther (F.H2 ) Fa1 82
Options:

1) 361

2) 529

3) 484

4) 441

Correct Answer: 441

QID : 35 - Two successive discounts of 30% and 70%
are given. What will be the net discount (in percentage)?

30% AT 70% F ar HfAw ge & Al g1 g (93e)
Qe (dfaerd #) w1 gref?

Options:

1) 63

2) 79

3) 100

4) 87

Correct Answer: 79

QID : 36 - After giving a discount of 40% on an article,
there is still a profit of 25%. If no discount is given, then
what will be the profit percentage?

TH IEG W 40% F Te &3 & geard T 25% FT olred
giar g1 IfE g g o & S, ar et gfaerd &
gram?

Options:

1) 109.33

2) 25

3) 107.67

4) 108.33
Correct Answer: 108.33

QID: 37 - Marks of Aand B are intheratio 5 : 7
respectively. If the marks of A is 25, then find the marks
of B?

ATUT B 3Rl &I 30T A 5: 7| I AF 31
258, dl B& 31 Ad f&fae?

Options:

1) 60

2) 35

3) 28

4) 45

Correct Answer: 35

QID:38-IfA:B=4:5andB:C=20:11, then
findA:B:C?



JEA:B=4:5duB:C=20:11, TA:B:CAAT
FU?

Options:

1)4:20:7

2)16:25:22

3)16:20: 11

4)8:10:7

Correct Answer: 16 : 20 : 11

QID : 39 - Average of 43, 57, 68, 32, 97 and x is 63.
What is the value of x?

43, 57, 68, 32, 97 T x T 3Td 63 §1 x T AT FT

8?

Options:

1)83

2)77

3)81

4) 75

Correct Answer: 81

QID : 40 - If the ratio of selling price and cost price is 3
: 4 respectively, then what is the loss percentage?

afy T Foa a1 FF Aed F FAW: I 3: 48,

ar grfer gfaera &r 82
Options:

1)10

2) 33.33

3) 20

4) 25

Correct Answer: 25

QID : 41 - An article is sold at 30% loss. If the selling
price is increased by 50%, then what is the profit
percentage?

Teh a&q & 30% HT g1l 9 = Ser g afe faswa
e @ 50% & ST ST §, dl of1s Fiaerd ar g?
Options:

1)5

2)8

3)12

4) 20

Correct Answer: 5

QID : 42 - What is the value of 20% of 30% of 7200?
7200 & 30% T 20% T AT FT §7?

Options:

1) 480

2) 432

3) 412

4) 360

Correct Answer: 432

QID : 43 - 12% of what number is equal to 30% of
960?

TFH TEIT FT 12%, 960 F 30% & sRT&X g7
Options:

1) 2400

2) 1720

3) 1440

4) 2880
Correct Answer: 2400

QID : 44 - If a car travels a distance with 20% less
speed, then it will reach 15 minutes late. What is the
usual time (in minutes) taken by the car to travel the
same distance?

I TH PR 20% FA IS F IHT A §C T gl I
aﬂ?ﬁ%,a’ra's'lsﬁaté‘?r@qgﬂ‘cﬁ% | AT 39
g ol T A H Tohclelr GHY (TRl #) o@rar grem?
Options:

1) 80

2) 90

3) 75

4) 60

Correct Answer: 60

QID : 45 - A goes from Point X to Point Y at a speed of
60 km/hr and comes back with a speed of 80 km/hr.
What is the average speed (in km/hr) of A for going and
coming back?

A, Toig X & Tdig Y & 60 for.at./aer & aifed & Sirer g
aar 80 for.Ar/der & aifd & ara| 3HTar g1 ST aur
g 3T F A E 3itaas aifa (e /aer &) Far 82
Options:

1) 66.66

2) 68.57

3)67.33

4) 69.43
Correct Answer: 68.57

QID : 46 - A certain amount double in 5 years, when
invested at simple interest. In how many years will it
become 8 times?

e AfTa ufyr gremRor sarer 9T fA9er F 9T 5 9y
# Sl @ ol ¥1 aF AR free ast & 8 A
STTER?

Options:

1) 35

2) 40

3) 30

4) 45

Correct Answer: 35

QID: 47 -



The line chart given below shows the expenditure on
clothes (in 000’) for the given years.

@ Rr o T R & fow o aut & o sugt w
fFT a1 =@ (000’ H) @Y g=irar arar ¥

4000 ~ 3800

3500 -
3000 -+
2500 -+
2000 -
1500 -
1000 -
500 -
0 T T T T T )
2011 2012 2013 2014 2015 2016
Year / a%

1150

Expenditure (in 000%)
= (000" )

Expenditure in year 2016 is how much percent more than
the expenditure in year 2015?

ay 2016 & 'g'aﬂea'zrafrzmsﬁgtrm@r%m
gfaera 31 g7

Options:

1) 19.07

2) 23.57

3) 21.16

4) 17.64

Correct Answer: 23.57

QID: 48 -
The line chart given below shows the expenditure on
clothes (in 000’) for the given years.

@ Rm o @r Ry # fw aw aut & o Fugt w
fFT a7 =g (000' H) T gMAT IR B

4000 ~ 3800
3500 -
3000 -

2500 -

1500 -
1000 -
500 -
0 T T T T T )
2011 2012 2013 2014 2015 2016

Year /9%

Expenditure (in 000°)
T (000 3Y)
N
o
o
o

1150

What is the average expenditure (in 000") per year from
the year 2014 to 2016?

ay 2014 & 2016 d& wfa av 3iad a7 (000' #) F4r
g?

Options:

1) 3120

2) 3080

3) 3000

4) 3430

Correct Answer: 3000

QID: 49 -
The line chart given below shows the expenditure on
clothes (in 000’) for the given years.

= R o W@ R A f@w o auf & o wust T
fFT a7 =@ (000’ H) @ AT IT B

4000 - 3800
3500 -
3000 ~

2500 +

I (000" /)
- N
o O
o O
o o

1000 -

Expenditure (in 000%)

1150

(%)}

o

o
L

o

T T T 1

2011 2012 2013 2014 2015 2016
Year /9§

Expenditure in the year 2014 is what percent of the
expenditure in year 2013?

ay 2014 # §31Ta:rqa1§r 2013ﬁ'§Q’€€I'€Ta-TI'ﬁw_c|F|T
gfaera &2

Options:

1) 118.71

2) 18.71

3) 115.76

4) 15.76

Correct Answer: 118.71

QID : 50 -
The line chart given below shows the expenditure on
clothes (in 000’) for the given years.

fr R o W@ R # Gy o auf & R sust o
fFT a7 =@ (000’ H) @ AT IT B

4000 - 3800
3500 -
3000 +
2500 -
2000 -
1500 -
1000 -
500 -
0 T T T T T 1
2011 2012 2013 2014 2015 2016

Year /9§

1150

Expenditure (in 000%)
= (000" )

Expenditure in the year 2012 is how much more (in 000")
than the expenditure in year 2013?

ay 2012 & gmaqzrarér 2013ﬁ§traqzr?rﬁn—dm
3f8s (000" ) g2

Options:

1) 878

2) 158

3) 228

4) 335

Correct Answer: 228



QID : 51 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

This book stall is very well stocked (1)/ you can almost
get (2)/ every book here. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

QID : 52 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

The old woman continued living a hard life (1)/ but
never she asked (2)/ for any help from neighbours. (3)/
No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

QID : 53 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

He runs faster than

Options:

1)1

2) me

3) my

4) his

Correct Answer: I

QID : 54 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.
There is no difference between
Options:

1) yourself

2) you

3) yours

4) your

Correct Answer: you

and me.

QID : 55 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Bleak

Options:

1) Comfortable

2) Depressing

3) Pleasant

4) Bright

Correct Answer: Depressing

QID : 56 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Chaos

Options:

1) Order

2) Quiet

3) Mix-up

4) Normality

Correct Answer: Mix-up

QID : 57 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Chorus

Options:

1) Soloist

2) Signing group

3) Artist

4) Pundit

Correct Answer: Signing group

QID : 58 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Split

Options:

1) Clear

2) Position

3) Join

4) Distribute

Correct Answer: Join

QID : 59 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Cherish

Options:

1) Abandon

2) Admire

3) Nourish

4) Shelter

Correct Answer: Abandon

QID : 60 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Proceeding

Options:

1) Action

2) Passiveness

3) Movement

4) Procedure

Correct Answer: Passiveness

QID : 61 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Make a fortune

Options:

1) To become rich

2) Boasting

3) Unavoidable



4) Reviewing leisurely
Correct Answer: To become rich

QID : 62 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Cry down

Options:

1) To depreciate

2) Jealousy

3) Spending diligently

4) Think creatively

Correct Answer: To depreciate

QID : 63 - Improve the bracketed part of the sentence.

The jury were divided in (its) decision.
Options:

1) their

2) his

3) her

4) No improvement

Correct Answer: their

QID : 64 - Improve the bracketed part of the sentence.

Everybody was there except (me).
Options:

1)I

2) my

3) mine

4) No improvement

Correct Answer: No improvement

QID : 65 - In the following question, out of the four

given alternatives, select the alternative which is the best

substitute of the phrase.
Flesh Eater

Options:

1) Herbivore

2) Carnivore

3) Omnivore

4) Piscivore

Correct Answer: Carnivore

QID : 66 - In the following question, out of the four

given alternatives, select the alternative which is the best

substitute of the phrase.

One who prescribes medicine
Options:

1) Optician

2) Politician

3) Beautician

4) Physician

Correct Answer: Physician

QID : 67 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Sufering

2) Suffering

3) Suffiring

4) Sufireng

Correct Answer: Suffering

QID : 68 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Cuorageous

2) Couragious

3) Couragoeus

4) Courageous

Correct Answer: Courageous

QID : 69 - Rearrange the parts of the sentence in
correct order.

Modern e-mail

P: intenet or other

Q: computer networks
R: operates across the
Options:

1) RQP

2) PQR

3) QRP

4) RPQ

Correct Answer: RPQ

QID : 70 - Rearrange the parts of the sentence in
correct order.

The most frightening

P:is that it is likely to

Q:aspect of malnutrition

R:cause permanent brain damage
Options:

1) RPQ

2) PQR

3) QPR

4) RQR

Correct Answer: QPR

QID : 71 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

A mother is the most person in the life of

everyone about which we cannot completely in

the words. However, some of the moments with

our mother can be described. A mother is most

beautiful and caring person in our lives. She always cares

every moment for our every need without her any
intention. In the morning, she calls us very softly

to get a rise from the bed and during the night she tells

us lovely stories to make us sleep with a beautiful dream.

A mother is the most person

Options:

1) precarious

2) poetic

3) precious

4) dependent

Correct Answer: precious

QID : 72 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.



A mother is the most person in the life of

everyone about which we cannot completely in

the words. However, some of the moments with

our mother can be described. A mother is most

beautiful and caring person in our lives. She always cares

every moment for our every need without her any
intention. In the morning, she calls us very softly

to get a rise from the bed and during the night she tells

us lovely stories to make us sleep with a beautiful dream.

which we cannot completely

Options:

1) describe

2) write

3) speak

4) listen

Correct Answer: describe

QID : 73 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

A mother is the most person in the life of

everyone about which we cannot completely in

the words. However, some of the moments with

our mother can be described. A mother is most

beautiful and caring person in our lives. She always cares

every moment for our every need without her any
intention. In the morning, she calls us very softly

to get a rise from the bed and during the night she tells

us lovely stories to make us sleep with a beautiful dream.

However some of the moments

Options:

1) valueless

2) valuable

3) checked

4) filtered

Correct Answer: valuable

QID : 74 - In the following passage some of the words

have been left out. Read the passage carefully and select

the correct answer for the given blank out of the four

alternatives.

A mother is the most person in the life of

everyone about which we cannot completely in

the words. However, some of the moments with

our mother can be described. A mother is most

beautiful and caring person in our lives. She always cares

every moment for our every need without her any
intention. In the morning, she calls us very softly

to get a rise from the bed and during the night she tells

us lovely stories to make us sleep with a beautiful dream.

A mother is most beautiful

Options:

1) the

2)a

3)an

4) my

Correct Answer: the

QID : 75 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

A mother is the most person in the life of

everyone about which we cannot completely in

the words. However, some of the moments with

our mother can be described. A mother is most

beautiful and caring person in our lives. She always cares

every moment for our every need without her any
intention. In the morning, she calls us very softly

to get a rise from the bed and during the night she tells

us lovely stories to make us sleep with a beautiful dream.

need without her any intention.

Options:

1) public

2) official

3) customized

4) personal

Correct Answer: personal

QID : 76 - Which among the following is called a
medium of exchange?

rfaf@d # @ #la AT s Aregsd SHgeran §?
Options:

1) Money

eI

2) Crops

T

3) Gold

grer

4) Land

STHT

Correct Answer: Money
B

ol

QID : 77 - In which kind of wants, both parties have
agree to sell and buy each other commodities?

fFe g &1 JTaRIEATHt H e 98l B UE gEN F
FEQU JT AT Wlhee F AT WA gl I3 g2
Options:

1) Single coincidence

Tehol TN

2) Double coincidence

AT wET

3) Triple coincidence

Q8T FaT

4) None of these

FoIH @ HIS AL

Correct Answer: Double coincidence

QYT T

Thel TN

QID : 78 - Which among the following is/are
organ/organs of Indian Government?

I. The Legislature

IIL. The Judiciary

FIT@d & § Pl @/ § AR TSR FI/ & 39T
22



I. e

IL. =ararforehr
Options:

1) Only I

Hael I

2) Only 1II

hael 11

3) Both I and II
I 11 gt

4) Neither I nor II

Neither I nor II
Correct Answer: Both I and II

[ 3T II At
[ 3T II At

QID : 79 - How many fundamental duties does part IV-A
of Indian constitution specifies?

AR TIAYT & dgd AT IV-A J fohder Hifors
Faey fAfése 7 a1 82

Options:

1)5

2)7

3)11

4) 31

Correct Answer: 11

QID : 80 - Who was the most famous Kushan ruler?
FEMOT T FEH G T FleT U1

Options:

1) Ashvaghosha

3729y

2) Kanishka

HicTsh

3) Heraios

e

4) Ban Yong

§1eT giar

Correct Answer: Kanishka

FHiasHh
FHiash

QID : 81 - Which Mughal emperor issued a ‘Farman’
granting the East India Company the right to trade duty
free?

e HITT FTeRmE A $EC ST Huelr A fqaT Yoh
IRV AR Fel T HIAT SIRT R ar?
Options:

1) Shah Jahan

MIRER

2) Aurangzeb

3RS

3) Bahadur Shah Zafar

SgIgY Mg oI

4) Shah Alam

Mg 3TelH

Correct Answer: Aurangzeb

e
Ao

QID : 82 - 90 degrees south latitude marks what?
90 372r gfayof 3rafrer T galfdr §?
Options:

1) South Pole

afaror ¢a

2) North Pole

3 ?3171'

3) Equator

fayaca ga

4) Prime Meridian

AT IR

Correct Answer: South Pole
afaror ¢a

afaror ¢a

QID : 83 - What is the area of the Earth’s surface
covered with water called?

gl Y T & UG @ G I HI T FEd o7
Options:

1) Lithosphere

qHAS

2) Atmosphere

argHSA

3) Biosphere

EICCEC

4) Hydrosphere

STAHSH

Correct Answer: Hydrosphere

STIHS

CGECH

QID : 84 - Which of the metallic ions is essential for

blood clotting?

TFd & UFHT FTHS & [T i AT enfcger 3T
3MaTF 87

Options:

1) Na*

2) Ca**

3)K*

4) Fe**

Correct Answer: Ca**

QID : 85 - The total number of bones in the body of an
adult humanis .

IEH Al & R & A3EA H For dear

gl &

Options:

1) 205

2) 206

3) 216

4) 636



Correct Answer: 206

QID : 86 - Largest gland in human body is .
AT R A FeF T ey gl

Options:

1) Liver

ghd

c

2) Pancreas
SIATRT

3) Pituitary
RERAY
4) Thyroid
URRISS

Correct Answer: Liver
Ihd

(<

el

N

QID : 87 - A force may change of an object.
gl Tl a&g & # ofiade o |edr B
Options:

1) speed

Tl

2) direction

feem

3) shape

KIIEanH

[
4) All options are correct

T kT T@gr g
Correct Answer: All options are correct

el faeod el &
el fashed el 8

QID : 88 - Good conductors have many loosely bound

e gareet # o a8 g gl
Options:

1) neutrons

it

2) protons

iG]

3) positron

qrdIereT

X

4) electrons

ECEn

Correct Answer: electrons

QID : 89 - What is the full form of URL?
g. 3R, Te. T EfeaTcd §9 FT 87
Options:

1) Universal Resource Locator

gfAader REM alishey

2) Universal Resource Location

Iioradel e ollehere

3) Uniform Resource Locator

iAme REART dlishey

4) Uniform Resource Location

gfaws R sesere

Correct Answer: Uniform Resource Locator
gt RE et

gfawe RaEe sesere

QID : 90 - Isotopes differ in .
gaEafas & YR W et g &
Options:

1) No. of electrons

SolFelal s &I

2) No. of protons

gierAr Fr awar

3) No. of neutrons

Sl dr HET

4) Chemical reactivity

At 3rfaAfshareierar

Correct Answer: No. of neutrons
SgClAl S HET

el i HE

QID : 91 - Chlorine atom and chloride ions
FANI TATY] 3R FARSS A
Options:

1) Have an equal number of protons

giele $r AT TE&AT WA §

2) Have an equal number of electrons
Solaglel $I AT &I W ©

3) Unequal number neutrons

HAATT HE&AT 7 Wl

4) react spontaneously with water

ST & ATy Tad: AR BT &
Correct Answer: Have an equal number of protons

gielel T AT TE&IT IWd &
gorFgTe T TAT TEAT WA §

QID : 92 - Air pollution has harmful effect on which of
the following?

arg 9guur farafafed # @ e W gifasres yama
STdT §7?

Options:

1) Living

gollg

2) Non living

forsita

3) Both living and non living
gafta g fasia aer

4) Neither living nor not living
AT & Follg o & sl

Correct Answer: Both living and non living



goltg aur @i gar
golg aur [Asia giar

QID : 93 - What is Pradhan Mantri Suraksha Bima
Yojana?

T GIETT AT TsTelr T &2

Options:

1) A health insurance scheme

Th TARELY §IAT JiaTal

2) A financial inclusion scheme

T facdig gAY Jst=r

3) A life insurance scheme

Teh Siided STAT Irotell

4) A accident insurance scheme

Teh gHeHAT AT Frofel

Correct Answer: A accident insurance scheme
Teh gHeHAT AT Frofell

T gtﬁcm AT AT

QID : 94 - Who invented the ‘world wide web"?
'Tes aIss a9 & AfaseR fhasr fRar?
Options:

1) Tim Berners-Lee

fer ey o

2) John O'Sullivan

St Firgeia

3) Jan Koum

ST B

4) Steve Jobs

9 Sieq

Correct Answer: Tim Berners-Lee

A s oY
SieT 3rgeiast

QID : 95 - Sachin Tendulkar played his last test match
in which stadium?

it cigelet & U= 3o\ SFe # Wl wfsga
ar?

Options:

1) Wankhede Stadium

CICICER AR

2) DY Patil Stadium

g a5 ifed wef3aa

3) Brabourne Stadium

SaleT TfEgA

4) None of these

$IH ¥ FIS G

Correct Answer: Wankhede Stadium

s Telsad
s T3

QID : 96 - The annual cultural festivals held at
Surajkund, Faridabad is an International Mela.

LIS, Blierere & IS aifte Fiehics B
Teh RTSET _ Hell gl
Options:

1) Books

&

2) Crafts

foreq

3) Science

ICEICH

4) Cattle

tr?;

Correct Answer: Crafts

feT
feT

QID : 97 - Who among the following is a winner of 2016
Rajeev Gandhi Khel Ratna Award?

fArafaf@d & & @l 2016 Tela el Yol T [REFR
Fr Aorar 87

Options:

1) Sania Mirza

arfaar s

2) Sakshi Malik

aralt Aferd

3) Deepa Kumari

AT FAT

4) Dutee Chand

gdr =g

Correct Answer: Sakshi Malik

Frelr Afes
AT FAT

QID : 98 - Who is the author of the book named
"Unbreakable"?

"3TASIchaol" FATHh JECTh h oITh dhiel §?
Options:

1) Mary Kom

A FA

2) Ahmed Faraz

3TgHG B

3) Vijay Dasda

o gasr

4) None of these

FIH § FIg AL

Correct Answer: Mary Kom

A HiA

QID : 99 - In 1974, India became the non-arab
state to recognize Palestine Liberation Organisation as
sole and legitimate representative of the people of
palestine.




1974 #, AR fheliedia folalere Heraed & fheledielr
AR &7 AT AR 3 gfafafr & &7 & Jggea &
v IR-3Re IS¢ I

Options:

1) First

REEL

2) Second

ER3RY

3) Third

e

4) Fourth

tar

Correct Answer: First

qgelT

e

QID : 100 - Which of the following neighbouring country
does not share land border with India?

fArafaf@d & & @i a1 wEr g #Ra & @y oA

HAT FSAT AT FIAT 872
Options:

1) Maldives

ATIEIT

2) Bangladesh

CIEC) )

3) Myanmar

FAT AN

4) Pakistan

qrferEdTet

Correct Answer: Maldives

AT
AT



